Journal of Contemporary Applied Mathematics V. 11, No 1, 2021, July ISSN 2222-5498

On the New Families of k- Pell Numbers and k- Pell-Lucas Numbers and Their Polynomials

Engin Ozkan, Merve Taştan, Aysun Aktaş

Abstract. We introduce advances in the study of k-Pell and k-Pell-Lucas numbers. Then we give some properties of these families and find the generating functions of the families for some k. In addition, we identify the relationships between the family of k-Pell numbers and the classical Pell numbers as well as the family of k-Pell-Lucas numbers and the classical Pell-Lucas numbers. Further, we define generalized polynomials for these numbers. We also obtain some useful properties of these polynomials. Additionally, we give the relationships between the generalized k-Pell polynomials and the classical Pell polynomials as well as the generalized k-Pell-Lucas polynomials and the classical Pell-Lucas polynomials. These generalizations are given in matrix representation. Results in this paper include Cassini identities for these families and polynomials.

Key Words and Phrases: Pell Number, Pell-Lucas Numbers, Pell polynomials, Pell-Lucas polynomials, Cassini's Identity, Generating Function.

2010 Mathematics Subject Classifications: 11B39, 11B83, 11C20

1. Introduction

Fibonacci sequences have many important properties as well as a broad range of applications in many areas of sciences [15, 17, 19, 20, 21]. Some authors have worked on a new family of k-Fibonacci numbers [1, 3, 7, 16, 18].

Many authors have been interested in Pell numbers and their applications [2, 4, 5, 6, 8, 9, 10, 11, 12, 13, 14, 22].

In [7], they showed that general k-Fibonacci numbers were related to a matrix.

In [4], they studied the generalized Binet's formula, the generating function and some identities for r-Pell numbers.

One of the latest works in this area is [21] where it was defined new families of Gauss k-Lucas numbers and the generalized polynomials for these numbers. They gave some properties of these numbers and their polynomials. They proved some theorems related to these numbers and their polynomials.

In this paper, we shall be interested in new families of k-Pell numbers, k-Pell-Lucas numbers and their polynomials.

http://journalcam.com

© 2011 JCAM All rights reserved.

2. Preliminaries

Now, we introduce Pell numbers P_n , Pell-Lucas numbers Q_n , Pell M-matrix, Pell-Lucas FM-matrix and Pell polynomials $P_n(x)$, Pell-Lucas polynomials $Q_n(x)$, the Pell polynomials $Q^n P$ -matrix and Pell -Lucas polynomials $Q^n R$ -matrix.

Definition 2.1. The Pell numbers P_n are defined by the recurrence relations

$$P_n = 2P_{n-1} + P_{n-2}$$

for $n \ge 2$ with initial values $P_0 = 0$ and $P_1 = 1.[12]$

Definition 2.2. The Pell-Lucas numbers Q_n are defined by the recurrence relations

$$Q_n = 2Q_{n-1} + Q_{n-2}$$

for $n \ge 2$ with initial values $Q_0 = 2$ and $Q_1 = 2$.[12]

Binet formulas for P_n and Q_n are given by as follows

$$P_n = \frac{\alpha^n - \beta^n}{\alpha - \beta} \tag{1}$$

and

$$Q_n = \alpha^n + \beta^n \tag{2}$$

where $\alpha = 1 + \sqrt{2}$ and $\beta = 1 - \sqrt{2}$.[12]

One can also be obtained the members of these integer sequences in different ways. In [4],[11], they showed:

$$M^n = \left[\begin{array}{cc} P_{n+1} & P_n \\ P_n & P_{n-1} \end{array} \right]$$

and

$$FM^n = \left[\begin{array}{cc} Q_{n+1} & Q_n \\ Q_n & Q_{n-1} \end{array} \right]$$

where $M = \begin{bmatrix} 2 & 1 \\ 1 & 0 \end{bmatrix}$ and $F = \begin{bmatrix} 2 & 2 \\ 2 & -2 \end{bmatrix}$ respectively. The matrices M and FM are called the Pell F-matrix and Pell-Lucas FM-matrix, respectively.[5]

Definition 2.3. The Pell and the Pell-Lucas polynomial $P_n(x)$ and $Q_n(x)$ are defined by the following recurrence relations

$$P_n(x) = 2P_{n-1}(x) + P_{n-2}(x)$$

for $n \ge 2$ with initial values $P_0(x) = 0$ and $P_1(x) = 1$ and

$$Q_n(x) = 2Q_{n-1}(x) + Q_{n-2}(x)$$

for $n \ge 2$ with initial values $Q_0(x) = 2$ and $Q_1 = 2x.[13]$

Binet formulas for $P_n(x)$ and $Q_n(x)$ are given by as follows

$$P_n(x) = \frac{\alpha^n(x) - \beta^n(x)}{\alpha(x) - \beta(x)}$$
(3)

and

$$Q_n = \alpha^n(x) + \beta^n(x) \tag{4}$$

where $\alpha = x + \sqrt{x^2 + 1}$ and $\beta = x - \sqrt{x^2 + 1}$.[13]

One can also be obtained the members of these integer sequences in different ways. In [5], [13], they showed:

$$M^{n} = \left[\begin{array}{cc} P_{n+1}(x) & P_{n}(x) \\ P_{n}(x) & P_{n-1}(x) \end{array} \right]$$

where $M = \begin{bmatrix} 2x & 1 \\ 1 & 0 \end{bmatrix}$.[5]

Then $n \geq 1$

$$\left[\begin{array}{c}Q_{n+1}(x)\\Q_n(x)\end{array}\right] = M^n \left[\begin{array}{c}2x\\2\end{array}\right].$$

3. Main results

Definition 3.1. For $n, k \in N(k \neq 0)$, there are only numbers m and r such that n =mk + r and $0 \le r < k$. The generalized k-Pell numbers $P_n^{(k)}$ are defined by

$$P_n^{(k)} = \frac{1}{(2\sqrt{2})^k} \left(\alpha^m - \beta^m\right)^{k-r} \left(\alpha^{m+1} - \beta^{m+1}\right)^r, n = mk + r$$

where $\alpha = 1 + \sqrt{2}$ and $\beta = 1 - \sqrt{2}$.

Also, we can find the generalized k-Pell numbers by matrix methods. Indeed, it is clear that

$$P_n^{k-1}M^n = \left[\begin{array}{cc} P_{kn+1}^{(k)} & P_{kn}^{(k)} \\ P_{kn}^{(k)} & P_{kn-1}^{(k)} \end{array} \right]$$

where $M = \begin{bmatrix} 2 & 1 \\ 1 & 0 \end{bmatrix}$.

Let's give some values for the generalized k-Pell numbers in the Table 1. From (5), we get the following relation

$$P_n^{(k)} = (P_m)^{k-r} (P_{m+1})^r, n = mk + r$$
(5)

If k = 1 in last equation, we have that m = n and r=0 so $P_n^{(1)} = P_n$. Throughout this paper, let $k, m \in \{1, 2, 3, \ldots\}$.

				Table 1:		
	k = 1	k = 2	k = 3	k = 4	k = 5	k = 6
$P_0^{(k)}$	0	0	0	0	0	0
$P_1^{(k)}$	1	0	0	0	0	0
$P_2^{(k)}$	2	1	0	0	0	0
$P_3^{(k)}$	5	2	1	0	0	0
$P_4^{(k)}$	12	4	2	1	0	0
$P_5^{(k)}$	29	10	4	2	1	0

Theorem 3.2. For k and m, we have

$$P_{m+1}^k - P_m^k = [P_{mk+k}^{(k)} - P_{mk}^{(k)}]$$

Proof. From (5), we have

$$P_{mk+k}^{(k)} - P_{mk}^{(k)} = [(P_m)^{k-k} (P_{m+1})^k] - [(P_m)^{k-0} (P_{m+1})^0] = (P_{m+1})^k - (P_m)^k.$$

For n, we have the following interesting properties related to these numbers.

$$\begin{array}{rcl} P_{2n}^{(2)} &=& P_n^2,\\ P_{2n+1}^{(2)} &=& P_n P_{n+1},\\ P_{2n+1}^{(2)} &=& 2 P_n^{(2)} + P_{n-1}^{(2)} \end{array}$$

Theorem 3.3. We have that the generating function for $P_n^{(2)}$ is

$$G_n^{(2)}(z) = \frac{1}{-z^4 - 2z^3 - 2z + 1}.$$

Proof. By using definition 4. and the following formal power series for $P_n^{(2)}(z)$, $P_n^{(2)}(z) = \sum_{i=1}^n P_i^{(2)} z^i$, we have

$$\begin{array}{rcl} P_n^{(2)}(z) &=& z+z^2+z^3+3z^4+9z^5+15z^6+25z^7+\ldots\\ 2zP_n^{(2)}(z) &=& 2z^2+2z^3+2z^4+6z^5+18z^6+30z^7+50z^8+\ldots\\ 2z^3P_n^{(2)}(z) &=& 2z^4+2z^5+2z^6+6z^7+18z^8+30z^9+50z^{10}+\ldots\\ z^4P_n^{(2)}(z) &=& z^5+z^6+z^7+3z^8+9z^9+15z^{10}+25z^{11}+\ldots \end{array}$$

Operations $[-z^4 P_n^{(2)}(z) - 2z^3 P_n^{(2)}(z) - 2z P_n^{(2)}(z) + P_n^{(2)}(z)]$ give $(-z^4 - 2z^3 - 2z + 1)P_n^{(2)}(z) = 1$ Hence, the generating function $G_n^{(2)}(z)$ for $P_n^{(2)}(z)$ is

$$G_n^{(2)}(z) = \frac{1}{-z^4 - 2z^3 - 2z + 1}$$

which concludes the proof.

For n, the generalized 3–Pell numbers and the known Pell numbers satisfy

$$P_{3n}^{(3)} = P_n^3,$$

$$P_{3n+1}^{(3)} = P_n^2 P_{n+1}$$

$$P_{3n+2}^{(3)} = P_n P_{n+1}^2,$$

$$P_{3n+1}^{(3)} = 2P_{3n}^{(3)} + P_{3n-1}^{(3)}.$$

Here we note that $P_{-1}^{(3)} = 0$. More generally, we have $P_{-n}^{(k)} = 0$. for k = 1, 2, ...For fixed numbers n, the generalized 4–Pell numbers and the known Pell numbers

satisfy

Theorem 3.4. For n, we have the relation

$$P_{kn+1}^{(k)} = 2P_{kn}^{(k)} + P_{kn-1}^{(k)}$$

Proof.

$$2P_{kn}^{(k)} + P_{kn-1}^{(k)} = 2P_n^k + P_{n-1}P_n^{k-1}$$

= $P_n^{k-1}(2P_n + P_{n-1})$
= $P_n^{k-1}P_{n+1}$
= $P_{kn+1}^{(k)}$.

Theorem 3.5. For $n, s \ge 0$ and n + s > 1, we have

$$P_{2(n+s-1)}^{(2)} - P_{n+s}P_{n+s-2} = (-1)^{n+s}$$

Proof. For n + s = a, we get

$$P_{2(a-1)}^{(2)} - P_a P_{a-2} = (-1)^a.$$

We will prove the theorem by the induction method on a. For a = 2, we have

$$P_{2(2-1)}^{(2)} - P_2 P_{2-2} = 1 - 2.0 = (-1)^{2-2}.$$

Now, assume that the theorem holds for a = k, that is

$$P_{2(k-1)}^{(2)} - P_k P_{k-2} = (-1)^k.$$

Then, for a = k + 1, we have

$$\begin{split} P_{2(k+1-1)}^{(2)} &- P_{k+1} P_{k+1-2} &= (-1)^{k+1}, \\ P_{2(k+1-1)}^{(2)} &= P_k^2, \\ P_k^2 &- P_{k+1} P_{k-1} &= (2P_{k-1} + P_{k-2})^2 - (2P_k + P_{k-1})P_{k-1} \\ &= 4P_{k-1}^2 + 4P_{k-1} P_{k-2} + P_{k-2}^2 - [2(2P_{k-1} + P_{k-2}) + 2P_{k-1}]P_{k-1} \\ &= 4P_{k-1}^2 + 4P_{k-1} P_{k-2} + P_{k-2}^2 - 5P_{k-1}^2 - 2P_{k-1} P_{k-2} \\ &= -P_{k-1}^2 + 2P_{k-1} P_{k-2} + P_{k-2}^2 \\ &= -P_{k-1}^2 + P_k P_{k-2} \\ &= -(P_{k-1}^2 - P_k P_{k-2}) \\ &= (-1)(-1)^k \\ &= (-1)^{k+1}. \end{split}$$

Theorem 3.6. Let $P_n^{(k)}$ be generalized k-Pell numbers. For $n, k \ge 2$, Cassini's Identity for $P_n^{(k)}$ is as follows:

$$P_{kn+t}^{(k)}P_{kn+t-2}^{(k)} - (P_{kn+t-1}^{(k)})^2 = \left\{ \begin{array}{c} P_n^{2k-2}(-1)^n, t=1\\ 0, t \neq 1 \end{array} \right\}$$

Proof. By using definition 4, we get

$$P_{kn+t}^{(k)}P_{kn+t-2}^{(k)} - (P_{kn+t-1}^{(k)})^2 = (P_n^{k-1}P_{n+t})(P_n^{k-1}P_{n+t-2}) - (P_n^{k-1}P_{n+t-1})^2$$

= $(P_n^{k-1})^2(P_{n+t}P_{n+t-2} - (P_{n+t-1})^2)$
= $P_n^{2k-2}(P_{n+t}P_{n+t-2} - (P_{n+t-1})^2)$

For t = 1;

$$= P_n^{2k-2}(P_{n+1}P_{n-1} - (P_n)^2)$$

= $P_n^{2k-2}(-1)^n.$

For $t \neq 1, t = m, (m \in N);$

$$= P_n^{2k-2} (P_{n+m} P_{n+m-2} - (P_{n+m-1})^2)$$

= $P_n^{2k-2} (P_{2n+2m-2}^{(2)} - P_{2n+2m-2}^{(2)})$
= 0.

Definition 3.7. For $n, k \in N(k \neq 0)$, there are only numbers m and r such that n = mk + r and $0 \le r < k$. Then we define the generalized k-Pell-Lucas numbers $Q_n^{(k)}$ by

$$Q_n^{(k)} := (\alpha^m + \beta^m)^{k-r} (\alpha^{m+1} + \beta^{m+1})^n$$

where $\alpha = 1 + \sqrt{2}$ and $\beta = 1 - \sqrt{2}$.

We can obtain the generalized k-Pell-Lucas numbers by matrixes as follows:

$$Q_n^{k-1}FM^n = \left[\begin{array}{cc} Q_{kn+1}^{(k)} & Q_{kn}^{(k)} \\ Q_{kn}^{(k)} & Q_{kn-1}^{(k)} \end{array}\right]$$

Let's give some values for the generalized k-Pell-Lucas numbers in the Table 2.

				Table 2:		
	k = 1	k = 2	k = 3	k = 4	k = 5	k = 6
$Q_0^{(k)}$	2	4	8	16	32	64
$Q_1^{(k)}$	2	4	8	16	32	64
$Q_2^{(k)}$	6	4	8	16	32	64
$Q_3^{(k)}$	14	12	8	16	32	64
$Q_A^{(k)}$	34	36	24	16	32	64
$Q_5^{(k)}$	82	84	72	48	32	64

From (6) and Definition 5, we have the relation

$$Q_n^{(k)} := (Q_m)^{k-r} (Q_{m+1})^r, n = mk + r$$
(6)

When k = 1 in last equation, we get that m = n and r = 0 so $Q_n^{(1)} = Q_n$.

Theorem 3.8. For k and m, we have the following relation between the generalized k-Pell-Lucas numbers and the known Pell-Lucas numbers

$$[(Q_{m+1})^k - (Q_m)^k] = [Q_{(m+1)k}^{(k)} - Q_{mk}^{(k)}].$$
(7)

Proof. From (6), we get

$$Q_{(m+1)k}^{(k)} - Q_{mk}^{(k)} = [(Q_m)^{k-k} (Q_{m+1})^k] - [(Q_m)^{k-0} (Q_{m+1})^0]$$

= $(Q_{m+1})^k - (Q_m)^k.$

For k = 2, 3, 4 and n, we have the interesting following properties between these numbers.

$$Q_{2n}^{(2)} = Q_n^2,$$

$$Q_{2n+1}^{(2)} = Q_n Q_{n+1},$$

$$Q_{3n}^{(3)} = Q_n^3,$$

$$Q_{3n+1}^{(3)} = Q_n^2 Q_{n+1},$$

$$Q_{3n+2}^{(3)} = Q_n Q_{n+1}^2,$$

$$Q_{4n}^{(4)} = Q_n^4,$$

$$Q_{4n+1}^{(4)} = Q_n^3 Q_{n+1},$$

$$Q_{4n+2}^{(4)} = Q_n^2 Q_{n+1}^2,$$

$$Q_{4n+2}^{(4)} = Q_n Q_{n+1}^3,$$

Theorem 3.9. For n, we have the relation

$$Q_{kn+1}^{(k)} = 2Q_{kn}^{(k)} + Q_{kn-1}^{(k)}.$$

Proof. By using (6), we get

$$2Q_{kn}^{(k)} + Q_{kn-1}^{(k)} = 2Q_n^k + Q_{n-1}Q_n^{k-1}$$

= $Q_n^{k-1}(2Q_n + Q_{n-1})$
= $Q_n^{k-1}Q_{n+1}$
= $Q_{kn+1}^{(k)}$.

Theorem 3.10. For $n, k \ge 2$, Cassini's Identity for $Q_n^{(k)}$ is as follows:

$$Q_{kn+t}^{(k)}Q_{kn+t-2}^{(k)} - (Q_{kn+t-1}^{(k)})^2 = \left\{ \begin{array}{c} Q_n^{2k-2}(-1)^{n+1}8, t=1\\ 0, t \neq 1 \end{array} \right\}.$$

Proof. By using (6), we get

$$Q_{kn+t}^{(k)}Q_{kn+t-2}^{(k)} - (Q_{kn+t-1}^{(k)})^2 = (Q_n^{k-1}Q_{n+t})(Q_n^{k-1}Q_{n+t-2}) - (Q_n^{k-1}Q_{n+k-1})^2$$

= $(Q_n^{k-1})^2(Q_{n+t}Q_{n+t-2} - (Q_{n+k-1})^2)$
= $Q_n^{2k-2}(Q_{n+t}Q_{n+t-2} - (Q_{n+k-1})^2)$

For t = 1;

$$= Q_n^{2k-2}(Q_{n+1}Q_{n-1} - (Q_n)^2)$$

= $Q_n^{2k-2}(-1)^{n+1}8.$

For $t \neq 1$, t = m, $(m \in N)$;

$$= Q_n^{2k-2} (Q_{n+t}Q_{n+t-2} - (Q_{n+k-1})^2)$$

= $Q_n^{2k-2} (Q_{2n+2n-2}^{(2)} - Q_{2n+2n-2}^{(2)})$
= 0.

For t = 0, 1, 2, ..., k - 1, we obtain the following relations:

$$P_{nk+t}^{(k)} = P_n^{k-t} P_{n+1}^t$$

and

$$Q_{nk+t}^{(k)} = Q_n^{k-t} Q_{n+1}^t.$$

Definition 3.11. For $n, k \in N(k \neq 0)$, there are only numbers m and r such that n = mk + r and $0 \le r < k$. Then we define the generalized k-Pell polynomials $P_n^{(k)}(x)$ by

$$P_n^{(k)}(x) := \left(\frac{\alpha^m(x) - \beta^m(x)}{\alpha(x) - \beta(x)}\right)^{k-r} \left(\frac{\alpha^{m+1} - \beta^{m+1}}{\alpha(x) - \beta(x)}\right)^r, n = mk + r$$

where $\alpha(x) = x + \sqrt{x^2 + 1}$ and $\beta(x) = x - \sqrt{x^2 + 1}$.

Moreover, we can obtain the generalized k-Pell polynomials by matrixes as follows:

$$P_{n+1}^{k-1}M^n = \left[\begin{array}{cc} P_{kn+k+1}^{(k)} & P_{kn+k}^{(k)} \\ P_{kn+k}^{(k)} & P_{kn+k-1}^{(k)} \end{array} \right].$$

Let's give sample values for the generalized k-Pell polynomials in Table 3.

		Table 3:		
	k = 1	k = 2	k = 3	k = 4
$P_0^{(k)}(x)$		0	0	0
$P_1^{(k)}(x)$	1	0	0	0
$P_2^{(k)}(x)$	2x	1	0	0
$P_3^{(k)}(x)$	$1 + 4x^2$	2x	1	0
$P_4^{(k)}(x)$	$4x + 8x^3$	$4x^{2}$	2x	16
$P_5^{(k)}(x)$	$1 + 12x^2 + 16x^4$	$2x + 8x^3$	$4x^2$	2x

The generalized k-Pell polynomials and known Pell polynomials are related by

$$P_n^{(k)}(x) := (P_m(x))^{k-r} (P_{m+1}(x))^r, n = mk + r$$
(8)

When k = 1 in last equation, we get that m = n and r = 0 so $P_n^{(1)}(x) = P_n(x)$.

Theorem 3.12. For k and m, we have the following relationship between the generalized k- Pell polynomials and the classical Pell polynomials

$$[(P_{m+1}(x))^k - (P_m(x))^k] = [P_{(m+1)k}^{(k)}(x) - P_{mk}^{(k)}(x)].$$

Proof. From (8), we get

$$[P_{(m+1)k}^{(k)}(x) - P_{mk}^{(k)}(x)] = [(P_m(x))^{k-k}(P_{m+1}(x))^k] - [(P_m(x))^{k-0}(P_{m+1}(x))^0]$$

= $(P_{m+1}(x))^k - (P_m(x))^k.$

The following equations are provided.

$$\begin{split} P_{2n}^{(2)}(x) &= P_n^2(x), \\ P_{2n+1}^{(2)} &= P_n(x)P_{n+1}(x), \\ P_{2n+1}^{(2)} &= 2xP_{2n}^{(2)}(x) + P_{2n-1}^{(2)}(x), \\ P_{3n}^{(3)}(x) &= P_n^3(x), \\ P_{3n+1}^{(3)} &= P_n^2(x)P_{n+1}(x), \\ P_{3n+2}^{(3)} &= P_n(x)P_{n+1}^2(x), \\ P_{3n+1}^{(3)} &= 2xP_{3n}^{(3)}(x) + P_{3n-1}^{(3)}(x), \\ P_{4n}^{(4)}(x) &= P_n^4(x), \\ P_{4n+1}^{(4)} &= P_n^3(x)P_{n+1}(x), \\ P_{4n+2}^{(4)} &= P_n^2(x)P_{n+1}^2(x), \\ P_{4n+3}^{(4)} &= P_n(x)P_{n+1}^3(x), \\ P_{4n+1}^{(4)} &= 2xP_{4n}^{(4)}(x) + P_{4n-1}^{(4)}(x). \end{split}$$

Theorem 3.13. For n, we have the following relation

$$P_{kn+1}^{(k)} = 2xP_{kn}^{(k)}(x) + P_{kn-1}^{(k)}(x).$$

Proof. From (8), we have

$$2xP_{kn}^{(k)}(x) + P_{kn-1}^{(k)}(x) = 2xP_n^k(x) + P_{n-1}(x)P_n^{k-1}(x)$$

$$= P_n^{k-1}(x)(2xP_n(x) + P_{n-1}(x))$$

$$= P_n^{k-1}(x)P_{n+1}(x)$$

$$= P_{kn+1}^{(k)}(x).$$

Theorem 3.14. For $n, k \geq 2$, Cassini's Identity for $P_n^{(k)}(x)$ is as follows:

$$P_{kn+t}^{(k)}(x)P_{kn+t-2}^{(k)}(x) - (P_{kn+t-1}^{(k)}(x))^2 = \left\{ \begin{array}{c} P_n^{2k-2}(x)(-1)^n, t=1\\ 0, t \neq 1 \end{array} \right\}$$

Proof. By using (8) we get

$$P_{kn+t}^{(k)}(x)P_{kn+t-2}^{(k)}(x) - (P_{kn+t-1}^{(k)}(x))^2 = (P_n^{k-1}(x)P_{n+t}(x))(P_n^{k-1}(x)P_{n+t-2}(x)) - (P_n^{k-1}(x)P_{n+t-1}(x))^2$$

= $(P_n^{k-1}(x))^2(P_{n+t}(x)P_{n+t-2}(x) - (P_{n+t-1}(x))^2)$
= $P_n^{2k-2}(x)(P_{n+t}(x)P_{n+t-2}(x) - (P_{n+t-1}(x))^2)$

For t = 1;

$$= P_n^{2k-2}(x)(P_{n+1}(x)P_{n-1}(x) - (P_n(x))^2)$$

= $P_n^{2k-2}(x)(-1)^n.$

For $t \neq 1$, t = m, $(m \in N)$;

$$= P_n^{2k-2}(x)(P_{n+m}(x)P_{n+m-2}(x) - (P_{n+m-1}(x))^2)$$

= $P_n^{2k-2}(x)(P_{2n+2m-2}^{(2)}(x) - P_{2n+2m-2}^{(2)}(x))$
= 0.

Definition 3.15. For $n, k \in N(k \neq 0)$, there are only numbers m and r such that n = mk + r and $0 \leq r < k$. Then we define the generalized k-Pell-Lucas polynomials $Q_n^{(k)}(x)$ by

$$Q_n^{(k)}(x) := (\alpha^m(x) + \beta^m(x))^{k-r} (\alpha^{m+1}(x) + \beta^{m+1}(x))^r$$

where $\alpha = x + \sqrt{x^2 + 1}$ and $\beta = x - \sqrt{x^2 + 1}$.

Moreover, we can obtain the generalized k-Pell-Lucas polynomials by matrixes as follows:

$$\begin{bmatrix} Q_{kn+k+1}^{(k)}(x) \\ Q_{kn+1}^{(k)}(x) \end{bmatrix} = Q_{n+1}^{k-1}(x)M^n \begin{bmatrix} 2x \\ 2 \end{bmatrix}.$$

Let's give sample values for the generalized k-Pell-Lucas polynomials $Q_n^{(k)}(x)$ in the Table 4.

The generalized k-Pell-Lucas polynomials and the classical Pell-Lucas polynomials are related by

$$Q_n^{(k)}(x) := (Q_m(x))^{k-r} (Q_{m+1}(x))^r, n = mk + r$$
(9)

When k = 1 in last equation, we get that m = n and r = 0 so $Q_n^{(1)}(x) = Q_n(x)$.

	Table 4:				
	k = 1	k = 2	k = 3	k = 4	
$\begin{matrix} Q_0^{(k)} \\ Q_1^{(k)} \end{matrix}$	2	4	8	16	
$Q_1^{(k)}$	2x	4x	8x	16x	
$Q_2^{(k)}$	$2 + 4x^2$	$4x^2$	$8x^2$	$16x^{2}$	
$Q_3^{(k)}$	$6x + 8x^3$	$4x + 8x^3$	$8x^3$	$16x^{3}$	
$Q_4^{(k)}$	$2 + 16x^2 + 16x^4$	$4 + 16x + 16x^4$	$8x^2 + 16x^4$	$16x^{4}$	
$Q_5^{(k)}$	$10x + 40x^3 + 32x^5$	$12x + 40x^3 + 32x^5$	$8x + 32x^3 + 32x^5$	$16x^3 + 32x^5$	

Theorem 3.16. For fixed k and m, we have

$$[(Q_{m+1}(x))^k - (Q_m(x))^k] = [Q_{(m+1)k}^{(k)}(x) - Q_{mk}^{(k)}(x)].$$

Proof. From (9), we have

$$Q_{(m+1)k}^{(k)}(x) - Q_{mk}^{(k)}(x) = [(Q_m(x))^{k-k}(Q_{m+1}(x))^k] - [(Q_m(x))^{k-0}(Q_{m+1}(x))^0]$$

= $(Q_{m+1}(x))^k - (Q_m(x))^k.$

The following equations are provided.

$$\begin{array}{rcl} Q^{(2)}_{2n}(x) &=& Q^2_n(x),\\ Q^{(2)}_{2n+1}(x) &=& Q_n(x)Q_{n+1}(x),\\ Q^{(3)}_{3n}(x) &=& Q^3_n(x),\\ Q^{(3)}_{3n+1}(x) &=& Q^2_n(x)Q_{n+1}(x),\\ Q^{(3)}_{3n+2}(x) &=& Q_n(x)Q^2_{n+1}(x),\\ Q^{(4)}_{4n}(x) &=& Q^4_n(x),\\ Q^{(4)}_{4n+1}(x) &=& Q^3_n(x)Q_{n+1}(x),\\ Q^{(4)}_{4n+2}(x) &=& Q^2_n(x)Q^2_{n+1}(x),\\ Q^{(4)}_{4n+3}(x) &=& Q_n(x)Q^3_{n+1}(x). \end{array}$$

Theorem 3.17. For fixed natural numbers n, we have

$$Q_{kn+1}^{(k)}(x) = 2xQ_{kn}^{(k)}(x) + Q_{kn-1}^{(k)}(x).$$

Proof. By using (9), we get

$$2xQ_{kn}^{(k)}(x) + Q_{kn-1}^{(k)}(x) = 2xQ_n^k(x) + Q_{n-1}(x)Q_{n-1}^k(x)$$
27

$$= Q_n^{k-1}(x)(2xQ_n(x) + Q_{n-1}(x))$$

= $Q_n^{k-1}(x)Q_{n+1}(x)$
= $Q_{kn+1}^{(k)}(x).$

Theorem 3.18. For $n, k \ge 2$, Cassini's Identity for $Q_n^{(k)}(x)$ is as follows:

$$Q_{kn+t}^{(k)}(x)Q_{kn+t-2}^{(k)}(x) - (Q_{kn+t-1}^{(k)}(x))^2 = \left\{ \begin{array}{c} Q_n^{2k-2}(x)(-1)^{n-1}4(1+x^2), t=1\\ 0, t \neq 1 \end{array} \right\}$$

Proof. From (9), we get

$$\begin{aligned} Q_{kn+t}^{(k)}(x)Q_{kn+t-2}^{(k)}(x) - (Q_{kn+t-1}^{(k)}(x))^2 &= (Q_n^{k-1}(x)Q_{n+t}(x))(Q_n^{k-1}(x)Q_{n+t-2}(x)) - \\ &- (Q_n^{k-1}(x)Q_{n+k-1}(x))^2 \\ &= (Q_n^{k-1}(x))^2(Q_{n+t}(x)Q_{n+t-2}(x) - (Q_{n+k-1}(x))^2) \\ &= Q_n^{2k-2}(x)(Q_{n+t}(x)Q_{n+t-2}(x) - (Q_{n+k-1}(x))^2) \end{aligned}$$

For t = 1;

$$= Q_n^{2k-2}(x)(Q_{n+1}(x)Q_{n-1}(x) - (Q_n(x))^2)$$

= $Q_n^{2k-2}(x)(-1)^{n-1}4(1+x^2).$

For
$$t \neq 1$$
, $t = m$, $(m \in N)$;

$$= Q_n^{2k-2}(x)(Q_{n+m}(x)Q_{n+m-2}(x) - (Q_{n+m-1}(x))^2)$$

$$= Q_n^{2k-2}(x)(Q_{2n+2m-2}^{(2)}(x) - Q_{2n+2m-2}^{(2)}(x))$$

$$= 0.$$

For t = 0, 1, 2, ..., k - 1, we obtain the following relations:

$$P_{nk+t}^{(k)}(x) = P_n^{k-t}(x)P_{n+1}^t(x)$$

and

$$Q_{nk+t}^{(k)}(x) = Q_n^{k-t}(x)Q_{n+1}^t(x).$$

Conclusion

In the present paper, we defined new families of k-Pell, k-Pell-Lucas numbers and their polynomials. We obtained the generating functions of the families for some k. We gave some relations among these families and the classical Pell numbers and the classical Pell-Lucas numbers. Further, we introduced the polynomials for these families. Then we gave relations among their polynomials and the classical Pell polynomials and the classical Pell-Lucas polynomials. Moreover, we showed these generalizations in matrixes. Also, we proved Cassini identities for these families and polynomials.

References

- Aküzüm, Y., and Deveci, Ö. 2020. The Hadamard-type k-step Fibonacci sequences in groups. *Communications in Algebra* 48(7): 2844-2856.
- [2] Belbachir, H., and Bencherif, F. 2011. Unimodality of sequences associated to Pell Numbers. Ars Combinatoria 102: 305-311.
- [3] Bolat, C., and Kőse, H. 2010. On the Properties of k-Fibonacci Numbers. Int. J. Contemp. Math. Sciences 22(5): 1097-1105.
- [4] Bród, D. 2019. On a New One Parameter Generalization of Pell Numbers. Annales Mathematicae Silesianae 33: 66-76.
- [5] Daşdemir, A. 2010. On the Pell, Pell-Lucas and Modified Pell Numbers By Matrix Method Applied Mathematical Sciences 5(64): 3173-3181.
- [6] Dujella, A. 1998. A Problem of Diophantus and Pell Numbers. Applications of Fibonacci Numbers 61-68.
- [7] Falcőn, S. and Plaza, A. 2007. On the Fibonacci k-numbers. Chaos, Solitons & Fractals 32(5): 1615-1624.
- [8] Fayeab, B., and Lucab, F. 2015. Pell and Pell-Lucas numbers with only one distinct digit. In Annales Mathematicae et Informaticae 45: 55-60.
- [9] Goy, T. 2019. Some identities involving Pell numbers. In Conference: Geometrical Seminar dedicated to the centenary of the birth of prof. V.I. Vedernikov, 12-14, At Minsk, Belarus.
- [10] Horadam, A.F. 1971. Pell identities. Fibonacci Quart. 9(3): 245-263.
- [11] Horadam, A.F. 1994. Applications of Modified Pell Numbers to Representations. Ulam Quart. 3: 34-53.
- [12] Hahci S., and Daşdemir, A. 2010. On some relationships among Pell, Pell-Lucas and modified Pell sequences. Sakarya University Journal of Science 14(2): 141-145.
- [13] Karaaslan, N. 2019. A Note on Modified Pell Polynomials. Aksaray J. Sci. Eng. 3(1): 1-7.
- [14] Koshy, T. 2014. Pell and Pell-Lucas numbers with applications. New York: Springer.
- [15] Lupas, A. 1999. A guide of Fibonacci and Lucas polynomial. Octagon Mathematics Magazine 7(1): 2-12.
- [16] Mikkawy, M., and Sogabe, T. 2010. A new family of k-Fibonacci numbers. Applied Mathematics and Computation 215: 4456-4461.

- [17] Ozkan, E. 2003. 3-Step Fibonacci Sequences in Nilpotent Groups. Applied Mathematics and Computation 144: 517-527.
- [18] Ozkan, E., Altun, İ., and Göçer, A. 2017. On Relationship among A New Family of k-Fibonacci, k-Lucas Numbers, Fibonacci and Lucas Numbers. *Chiang Mai Journal* of Science 44: 1744-1750.
- [19] Özkan, E., and Altun, İ. 2019. Generalized Lucas polynomials and relationships between the Fibonacci polynomials and Lucas polynomials. *Communications in Algebra* 47(10): 4020-4030.
- [20] Özkan, E., Aydın, H., and Dikici, R. 2003. 3-Step Fibonacci Series Modulo m. Applied Mathematics and Computation 143(1): 165-172.
- [21] Ozkan, E., and Taştan, M. On a new family of Gauss k-Lucas numbers and their polynomials. Asian-European Journal of Mathematics (accepted) https://doi.org/10.1142/S1793557121501011
- [22] Panda, G.K., and Sahukar, M.K. 2020. Repdigits in Euler functions of associated pell numbers. Proc Math Sci 130(25): 1-8.

Engin ÖZKAN

Department of Mathematics, Erzincan Binali Yıldırım University, Faculty of Arts and Sciences, Erzincan, Turkey. E-mail: eozkanmath@gmail.com or eozkan@erzincan.edu.tr

Merve TAŞTAN

Graduate School of Natural and Applied Sciences, Erzincan Binali Yıldırım University, Erzincan, Turkey E-mail: mervetastan24@gmail.com

Aysun Aktaş

Graduate School of Natural and Applied Sciences, Erzincan Binali Yıldırım University, Erzincan, Turkey E-mail: aysun.cicek36@gmail.com

Received 28 January 2021 Accepted 10 February 2021